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02. Write\short answers fo any SIX (6) questions: (6x2=12)

g 5] 2 3
(i) Define matrix. (ii) Multiply: | 6 4J y ZJ (iii) Simplify: ‘I" ]

(iv) Find the value of /. (v) Express in scientific notation 0.0074. (vi) Define binomial surd.
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(vii)Define Common logarithm.(viii) Rationalize the denominator f: \1 (ix)Factorize 3x-243x°
L' -

03. Write short answers lo any SIX (6) questions: (6x2=12)
(i) Find H.C.F. by factorization x* + 5x 4 6, * ~dx - 12
(i) Solve the equation and check for extraneous solution. Jx-3-7=0
(i) Find solution set. [3x - §/=4 (iv) Define collinear points.
(v) Find values of m and ¢ after expressing line in the formy =mx + ¢, 2x-y=1.
(vi) Find the distance between the pair of points. A(9, 2), B(7,2)
(vii) Find the mid point of the line segment joining pair of points. A(2, -6), B(3, -6)
(viii) I two angles of a triangle are 90° and 30° what will be the value of 3rd angle,

(ix) In figure find mZ1 = Jmsl =

04. Write short answers to any SIX (6) questions: (6x2=12)
(i) Define right bisector of a line segment.
(i) Whether 2cm 4cm and Tem can be lengths of the sides of a tniangle? Give reason.
(ili) Define propartion, (iv) State converse of Pythagoras theorem.
(v) Find the value of x. (vi) Define rectangular region.
o (vii) Define the median of the triangle.

(viii)Construct a AXYZ in which mZX = 6.4cm,

: mYZ = 24em, mZY = 9(° A
(ix) InAABC, DE || BC if mAD = 24cm. mAE = 3 2em, mEC = 4.8¢m, A
find mAB.
PART - 11 RS
Note:  Attempt any THREE questions in all. Bul question No.9 is Compulsory. (Ix8=2)
05. (a) Solve by Cramer's Rule. 2x-2y=4;3x + 2y =6 4
T
; }'(mv «(25)? 4
b) Simplity: [
Lol P
06. (a) Evaluate with the help of Logarithm. 0.8176 x 13.64 4
RE
by Simply: = {
(b) Simplify -l
Q7. (@) M {x +2)is alactor of 3x* - 4kx - 4k, then find the value(s) of k. .
(b) Use division method to find the square root of x* - 10x% + 37xZ - 60x + 36. d
N | 5
Q8. (3) Solve the equation. 25 -} e ml s '2' {
(0) Construct the AABC and draw the bisector of ifs angles. i
mAB = 4.2cm, mBC = 6cm and mCA = 5.2¢m
(9. Prove that the right bisectors of the sides of a Iriangle are concurrent, 8
(OR) Prove that parallelogram on the same base and between the same paraliel i the same
altitude) are equal in area. 3 ﬂ ((3 ﬁ
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